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Cal MATLARS

close all;clc

clear;
c=[B; 8; 1]
A=[8-1 8;
2 -1 8;
b 1 -1;
g -1 -1]
b= [-6; 8; 4; -4]
[x, fvall = linprog(c,A,b)

-

=D WM

Optimal solution found.

==&
| 11
S e

20 M ®

I |
Lo o

M O L

(I
H =S




I we dowde ek win brute fovie,
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clear; close all ;clc 55
% creat x as a vector from -5 to 5

X = -5:0.81:5; gl

% compute the function value

f=abs{ 4 - max{ 6, 2%x) ); ﬂ a5t

% Plot the result Z 4r
plot{x,f, 'linewidth', 2)
xlabel{'x"', 'fontsize',20) 3.5F
ylabel{'f(x)"', 'fontsize',20)
grid on, axis tight g
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